Using the countries in South America, let’s analyze the relationship between GNP and infant mortality rate (IMR).
	Country
	GNP per capita in 1997 (Dollars)
	Infant Mortality in 1998 (per 1,000 Births)

	Argentina
	8,030
	19.0

	Bolivia
	1,010
	60.0

	Brazil
	4,630
	33.0

	Chile
	4,990
	10.0

	Colombia
	2,740
	23.0

	Ecuador
	1,520
	32.0

	Paraguay
	1,760
	24.0

	Peru
	2,440
	40.0

	Uruguay
	6,070
	16.0

	Venezuela
	3,530
	21.0


a. Construct a scatterplot from the following data, predicting IMR from GNP.  What is the relationship between GNP and IMR for these 10 countries in South America?
b. Does it appear (visually) that a straight line fits these data? Why or why not?

c. Calculate the correlation coefficient and coefficient of determination.  Do these values offer further support for you answer to (b)?  How?

